C 2| 60m 100m
6/25 4/9 5/6 5/14 | 6/4 6/10 6/25 7/3 7/30

FR BH | B 6 13.84 | -2.1| 13.79 13.18 | +2.4|13.35| +1.4| 13.90 | 13.08 | +0.9 | 12.98 | +0.8[13.38| 0.0 | 13.43| +0.2
iy B | B | 6 16.10 | 15.59 16.13 | 15.40 | +0.7

KR HE | F| 6 16.04 | -4.3| 15.96 15.80| -1.5| 15.66 | -0.5
il BE | k| 6 15.73 | 15.65 | 16.06 | -3.1| 16.24

aF L | k| 6 15.17 | 15.15 | 15.52 | -3.1| 15.21 15.22| -1.5|14.95| -0.8
A 8B | B| /5 |10.97 18.21

EE B | B| A5 16.33 | 16.65 16.38 | 15.62 | +0.9

Wi RE | 8| /5 |1041 18.18 | -2.5

Hils K% | B | /5 | 10.66 17.38

M2 & | | /5 |10.22 16.30 | 15.65 16.71 | 15.63 | +2.3
I BATHE | & | /N5 | 12.26 19.67 20.67

HeE ZEB | x| )b

PRt DE | & | b 16.01

R B | F| M 16.86| -1.1|16.92| -1.2
Al K8 | B 44 | 1179 19.10

=5 A | B /41046

B REE | B| A4
A BY | B 4 16.33 16.97

HE B | B| 4 17.18

e wuw | &| N4 15.51 | 15.70 | 16.68 | -2.1| 16.04 | 15.42 16.54 16.05| -0.6 | 15.88 | +0.2
=M WE | x| 4

Bl Bk | &| A4 18.61 | -3.9| 17.49 17.33

R OE£ | x| M

B E B /3 18.65

R OEH | B A3 18.65

&) 2 | B A3 20.40 | -3.9

B BE | B 3 18.75

BR O—B | B| 3 16.12

Ik | B A3 18.54
ha B4# | 5| /3 |10.92] 16.93 | 17.39 | 18.02 | -0.2| 17.60 17.79| -1.5 | 17.57 | +0.9
Hef BXR | Z| )3

AE BM | B| A2 19.76 20.08

i WK | B| A2 19.59 19.53 19.10| -0.5 | 18.62 | +0.4
BIE &% | B | /12 ]12.29 19.90 19.82| -0.5 | 19.15| +0.4
A& BRE | &| N2 23.02

HE % | &| A2 ]11.30 20.10 18.38

HE BE | B | L 20.48| -1.1|20.43| +1.5
B =P | x|




